
VNT-ADPT
PS8 / PS10 / PS15  ADAPTER for FLYING ACCESSORIES.
( Not Required for PS10 R2 and PS15 R2 )

Page 1/1 - NEXO - REV1.1

 WARNING :  

Screws must be secured using Loctite 243 TM

 Loctite 243 TM Loctite 243 TM Loctite 243 TM

HEXALOBULAR SOCKET 
LOW HEAD CAP SCREWS  
M6x10 ( TORX n°30 )

HEXALOBULAR SOCKET 
LOW HEAD CAP SCREWS  
M6x10 ( TORX n°30 )

HEXALOBULAR SOCKET 
LOW HEAD CAP SCREWS  
M6x20 ( TORX n°30 )

Use the 2 screws supplied.
HEXALOBULAR SOCKET 
LOW HEAD CAP SCREWS  
M6x20 ( TORX n°30 )

Use the 2 screws supplied.
HEXALOBULAR SOCKET 
LOW HEAD CAP SCREWS  
M5x25 ( TORX n°25 )

Use the 2 screws supplied.

Remove the 5 cap screws.
HEXALOBULAR SOCKET 
FLAT HEAD  SCREWS  
M5x20 ( TORX n°25 )

Remove the 2 cap screws.

1

3

Remove the 4 cap screws.

Stick the adhesive sealing gasket on adapter. ( Only PS10 & PS15 )

2

PS10PS8

PS8

PS15

PS10 PS15

M6x20 M5x25 

x2x1x1 x2

CONTENTS


